
Séquence de Nombres Linéaires (D)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 520 505 480 475Différence commune:2. 710 685 610 585 560Différence commune:3. 361 286 261 236 211Différence commune:4. 840 640 540 340 40Différence commune:5. 569 419 269 219Différence commune:6. 967 767 567 367 267Différence commune:7. 800 775 725 700 575Différence commune:8. 382 352 342 312Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (D) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 520 515 510 505 500 495 490 485 480 475Différence commune: -52. 710 685 660 635 610 585 560 535 510 485Différence commune: -253. 411 386 361 336 311 286 261 236 211 186Différence commune: -254. 940 840 740 640 540 440 340 240 140 40Différence commune: -1005. 669 619 569 519 469 419 369 319 269 219Différence commune: -506. 967 867 767 667 567 467 367 267 167 67Différence commune: -1007. 800 775 750 725 700 675 650 625 600 575Différence commune: -258. 382 372 362 352 342 332 322 312 302 292Différence commune: -10Mathslibres.com


